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Instructions to the Candidates:

1=

Hindi Translation of questions is available,

2. lhere are b5 multiple choice questions of 2 marks each. Four options of answer have been given in each
multiple- choice question out of which there is only one correct answer.

3.  Question No. 01 to 45 are compulsory. Question No. 46 to 50 are optional and 51 to 55 are related to
Rajbhasa. Candidates can either attempt Question No. 46 to 50 of Optional or Question No. 51 to 55
Rajbhasa.

4. Candidates are advised to write the answer of objective type questions carefully in the answersheet onlv.

Answer once written, modifying the answer in any way/overwriting/erasing/cutting/scoring off ticked

H H . 8 : 5 iy e maads
mrveiaror im maaltimla Fhades v mmethar anear ara etk rarmaittad i fAaea oy coees ' H
answer in multinle cheico and ticking ancther anower ore not permitied. o C252, SNy SOTTEL0on s

answer will not be evaluated and no marks will be allotted against that particular answer.
5. There shall be negative marking for incorrect answer. One-Third marks will be deducted for each wrong

dNSWer.
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6.

Which of the following is a conductor of electricity?
frofefaa o 3 91 gy = &
a) Plastic / WIRe®

b} Rubber /¥aJ
F) Conner / dTdl

d) Wood / Eﬁa’iﬂ‘r

Which of the following is a non-renewable source of en ergy?

FoffErd s e ey Seidas:

Wind / gdl

Solar /T

c) Coal/ HITdl

d) Biomass ;’@Ia'*.f‘f'ﬁ'

Whatis the law that states that the total electric cha rge in an isolated system remains constant over time?

BT T TN R 5 v veptel wonel & g R oot w3 @ e wmar

a) Coulomb’s law / clid ] -

b) Ohm's law/ﬁhﬁﬁaﬂqﬂfﬁ

c) Kirchhoff's law / fHTd® DB

d) Law of conservation of charge / AT & HI&{0T T Bl

What is the SI unit of electrical resistance?

e | e r =) M r e T
PHNCU SN S 30 3991 A9 O
a) Ohm/ 3|
b) volt/dee
c) Ampere / UFRIRR

d) watt/dlc

Which of the following devices is used to measure electrical current?
T o i Py

ﬁqgﬁ (HEHERHE A PR ot BtoHER kR e 39S 9 anu o %'_-'
- 2] — 1 Lo |

a} Voltmeter / diccHIcR

b) Ammeter/ uHley

c) Multimeter/ Hee e

d) Ohmmeter/ RTTpepeiny

What does AC stand for in electrical terms?
P fr =M ae Eafei .:uof:if_*-)

Lo | 3\||'| LT SRR o L N L i |

a) Alternating Current / Yetildcl] Y|
b} Automated Circuit / uiferd gfde
c) Applied Current TGS &

d} Alternating Charge /Wﬂﬁf
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W \
ll:]"-;‘\ll l“.‘l Uhe IHNL.‘WHIR materials is a good insulator?
! \“\*‘\l ﬂ \n -.|1\.| qn “!jl:_n Ul 3 bl :-."{l\']"'! i‘:.,

a) Copper /141
b Alimingm ,fllvi'ljm-]’l”
¢} Rubber /IW

Ay Silver /7 11

o : .
R, Whatis the purpose of a circuit breaker inan electrical system?

G ol 3 e Qas i In ¢

a) Toregulate voltage / Al 2 @) @ m[\'
b) To store electrical energy / 11T Sl ) IR HE P ey

wak i maen o b earlnad nr r|\nrt rleeit £ -UTFTJD"“-'
incane o pyorioal OFLGRON GGt 7 e s

s ayy wiid afefe o)

t} Tointersupt the flowof current
FRURY Y avde & uarg ) QiR ) & g
d) Toconvert ACto DC/ u{ﬂ SRIRUR B Nt’:ﬂ:} & R:]U

Q. In a series circuit, how does the total resistance compare to the individual resistances?

v e i N g R @t g auldi wikR @ P F Il &7

WV teie amual e the sum of the individua! reslstances / e AT nfaTrel 7 T 7 AT _;3
smallest individual resistance / Hg e Bie afara ufddy AHE

est individual resistance / 0% BER RS wifdarra wfaRiy 9 ol srfere 3
of the individual resistances ,’ﬂ%’mﬁﬂ‘]ﬁ wferish & e & aG3Er %

b) 1tisless than the
¢) Itisgreater than the lag
dl tis equalto the average

10. What type of current does a battery supply?
3o g TR & I QIS Xl 87

3) Alternating Current (AC) / TRIT] 4T (T
b} Direct Current (DC) ! ?:Pﬂﬁl’ ?ﬁ'? (Eﬂ@\

o Both AC and ¢ / Tl 3R Sl &1l

d) None of the above / IWaadd aﬂé '_-IEPI

11. Which of the following is NOT a component of an electric motor?
Py O 0 o P Moy 3 oo = Dy
R AL TR A S B B N bl | l"l\‘t:‘n R TEET BT AT | £ I A
a) Rotor/ R
b} Stator/ TR
c) Commutaton ,IH’IZI:}E?

A Dinda / ETE

T PRI | 0l . T r 1 4 § * il
Wy il I LHIE U PUSE W d Liarsiunnet il di eeciial sysieine:

fRqua wonrell 3 ZIWBR &1 SRR @ e?

- =
i

al Toconvert ACto DC/AC @ DC ﬁ Tlﬁﬁﬁfﬂ B b ﬁll’{
b) Toregulate voltage / Al s &l fafyafiag &3 RN

Py et m anfRa and A
& Ave b S TR R R R R Y RN

=1 #eical aearass
Ly CURLSUTTRCST RS B e B

levels / Ale R @1 AgIH 1 vier) & [

To increase or decrease voltage




13. What is the function of a relay in an electrical circuit?

14.

15.

16.

17.

18.

a)
b)
d)
e)

19

o a3 Rl et apred 20

—r

a) To ampiify eiectricai signais / fGGga Sopal &1 Ta14d T

b} To convert ACto DC/ AC aﬁncﬂam"‘{?ﬁﬁ‘m .

c) To switch electrical circuits on or off remotely /ﬁ@"{lﬂ fde aﬁ'f(‘-" @Eﬂfﬁ[m dq Hﬂefé}?ﬁﬂ
d) To measure electrical resistance fﬁ‘qjgﬂ ufRte &) Ao & feru

What will be the current density of metal if a current of 30A is passed through a cross-sectional area of 0.5m*?

S 0 5m2 F HII-TFEFT 87 30A @ YRT YA ! S T eI T YR O 1 gH?

al 75 A/m?2

by 15A/m2
c) 60A/m2
d) 120 A/m2

'v’_\.-'ha! is the number of primary turns in a 200/1000 V transformer if the emf per turn is 10V?
Al i MY ST 10V 2 /1 2001000 V RITTR 1 Wi ol ) T 4 27

a] 5

by 10

c) 20

d) 40

If in an alternating current circuit, impedance is 26 ohm, cagaciﬁve reactance is 24 ohm, what is the resistance?

aife fll wenadl s aRay 3 gfaam 26 ol &, FARiS 24 3 ¢, 1 vy g2

a) 25ochm
L) 10 uinn
c) 12 ohm

d) 23 ohm _l

Calculate the total capacitance.

P T 1 oA FHY

v
|
|
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a) 10F | a2 |

Rl AET |
Y

]
c) 13F E— f-———--
d) 20F

Which one among the following bulbs consumes less power for light of same intensity?
e 3 W S A &ed W AT & YR S 6 S S &)U Gl 2
Incandescent bulb / ATI&ITd ded

CFL tube bulb / HIUHUT 298 5o

LED bulb / UFS] ded

Fluorescent tube bulb / TRIRINE ¢4 Sed

. . What tvpe of faulls can a Buchholz relay detect in 2 transformer?

‘t:._f..“':_,'.;“q el T QS.IL ﬂ Fuusn 3“: Sl & gar am B TR %‘

a)
b)
c)
d)

External faults only!f?thiE! qigdl e

Internal faults only / acl 3{idR® &g

Both internal and external faults / 3{[dR® 3% d1g1 g1 8
None of the above / GURIF # ¥ @I =gl



20. Full form of VCB ? Fd BRH 316 veB 2

a) gAY FR (/acuum Circuit Breaker
b) ??R{H ?iﬁﬁ:’ 4@ ( Vacuum Cireuit Baker
c) ddyH dide g Avacuum Circuit Brake

d) 38 TS T None of these.

21. Whatis slip in the conlext of a three-phase induction motor?

dF1-ERu DR HYeR & Aen§ 1) R qur g2

a) The difference between synchronous speed and actual speed / GeFIfRRE 7 3 ardfd® nfa & 49 o
b) The difference between stator and rolor voltages / ©e3 3R Aed diecsl & 49 3R

c) The amount of power loss in the motor /Ay A faarel g &1 1w

d)  The tarue nradiuced by the matar [HITY TRT 303 eid

22, find the current through 3 ohm resistor

3 3 wicRiees & A A YR F1d 3
a) 6A

b) 2A

c) 267A

dy 3A

23. What types of fire extinguisher sed in fire caused by electricity?
faorell @ arft o 7 g UebR b ST T &1 WO fha ST 82

(a) Type A

(b) Type B -
{t) Type C

(d) TypeB&C

24 . The resistance of wire varies inversely, as

ar &1 wiady Redla S u AP fare ?

a) Temperature /[ dIAHM

b) Length / TS

¢) Area ot Cross section / sbi¢i <idRi cbl &
d) Resistivity / BRIQUTT

25. Find the odd one out of the following:

fraddaE-afavm g

a) Lead-Acid / &8 UfliS
b) VRLA /dI3{RTET

c) SMF/THUHUE

d) uve /ydi

26. The most energy efficient & cost effective generation methods for coaches in Indian Railways is:-

WA Yo A el & fere i Shell <el T anrd wuTd ol AR g

a) HOG /8
bl MOG /Uil
¢) EOG /g3l
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27. Full form of EAC ? / EAC @1 qf &1 ford

a) UfEHEE R fe / Estimated Air Cooling
b) RIS Ur3(c] oI / Estimated Annual Consumption
¢) UBRITE LR & Efficient Air Cooling

d) FTH A EIS 161/ None of the above

28. During earthing checking of coach witing using two-lamp method, it was found that both the famps glow equally (5:1:'r:ﬂ..'_??ﬂ‘el:i_q
both lamps are in working condition) / &-ct faff) &7 AT A B Y a3 sfdf Sifa & SR Ug T TR R g ¢
T 8 3 S @ Ed ) Qe R i 8

From the above finding, the technician should understand that-

g s A e gl i .

a) &9 aaRa &b §1 Coach wiring is hea Ithy.
b) WIfAd | 1NN e 7 sl wTaee g 21 Earth faultis in positive/negative wiring.

PR o + o . 1 - B 1
¢} e ) Ea @ vy T sen s T 20 Sannat ke fannd aut fram the oot

= Ak Feme el
PRI S NI AN A ) L AL Lt D RAL B TLEL B AT R R P TR R

d) TIH &1 1/ None of the above.

¢
£3

29. Insulation resistance of coach wiring should be measured with / ig arafe & SRy YRRd @ g @ @ sty

a) 5000V AR/ Megger

b) 500A & ¢3¢/ Tong Tester

¢) 500V WR/Megger

d) isivicer Hicediex / Digital Multimeter

30. RMPU Té5a5 13T tigar 1 @ / RMPU stands for —

a) ¥ I1dCS URMH e / Roof Mounted Pipe Unit
b) T HIEES YEETe AME / Rail Mounted Pivot Unit

c) T IS Yl YT / Roof Mounted Package Unit
dy 3 ) SRR g7 £ Rail Micra Processing Lini

L2
-

T Qe TTMETIOT S 0 Thom b ol vt
e [T I

B ara Tj"ﬂ'l 3 "l #
O e LT R B R R Y R e e R T N s L T T bR L i bl T R PP

a) 11kV/433v
b) 11k\V/230V
c) 11k\v/400v
d) 11kvA110v

32. Diode Condudls Cuieit in
SIS [Agya URT &7 WdTeH Sl ¢
a) Bothdirection / g1 f&mm
b) One direction only / tdel U fgam

c) does not conduct / HTERV] Wﬁm
d) None of these / §TH T ®IS g

33. IR value of TL coaches measured by
g ) B AR R T AR

a) Double test lamp / 2183 tigm &g
b) Single test lamp / Thel uiigmor ag
¢) Megger/ TR

d) Al of these /3 T+t



34. Whlﬁh StcllEl ent regardi
4 . a rdl'nq CB & isulalﬂ s correct?
—R— A = —‘ tl

a) Wi ud spraey A1 3ii1-8rs Iy )
CE & icolater both arc On load dovicos
I\\ Tt W e

by ¥l U iy DR air ave a2
CB & isolator both are Ott-lond devices )

c) ?ﬁmﬁ Uk ${I-818 SUaR0 ¢, Tl Pt T Hitp-silg gu@ ¢
CBis an D,‘s-load device whereas isolator is an Off-load device

}ﬁaﬂ U S{{th-¢118 Iuam) &, wafy I U 3-8 Jua g

CBis an Off-load device whereas isolator is an On-load device

d)

5. iﬁ. Rferm St e gry waiw 1 ergefia @) s
Ahon cufficiant

i e, @ easmasmg

moictira ic ahenrhad h',' Silica gnl hrasathar tha ~alanr af roeetale b
<= = swlh gol reather, ine colour of cruclale b

[}
[
2

o

a) -Ie/Blue

by TeTElPink

c) Uldivellow

d) TEH [Colourless

36 T e F e s s IR R s D ofie &1 B+ TR0/ For small sub-stations, combined earth

TESElance must not exceed-

a) 10
by 20
¢y 050
dy 100

37. Full Form of LED is- / LED &1 Uf &4 §

a) dge uiniee [S9m=R1 / Light Emitting Device
by O URifrEie f39RE / Lamp Essential Device
c) @iz ufAf SIS / Light Emitting Diode

d) I8 T &1E 981/ None of the above

Alnimrad o casbeifiimsal s dhink s f s
L R e T R TR T L T R S L T e T
?-rl

FTTARE O el m’lf i

Heanmm mamee bon e manaibhla eonmmeme
BRI Ty Mo L RO G § A Lo

£
et e, FafiEa 3 3 @ weafad s g ad

20 KMl ossemdar e A
AL 1WA AWM LAAE ok s
3 £

a) Lack of priming / Wiafi &1 &l

b) Pump speed too high /44 @1 71fd §gd «fe 2
c) Wrong direction of rotatiomqﬂf;’[ & e ﬁ‘-?ﬂ
d) BothA&C /n 3R c aFl

39. What are the AH capacity of cells used in TL coaches./ 0T B 11 Ygac Il &1 0Ua &¥7al o] g a2
a) 110
b} 120
c) 1100
d) 800

40. lllumination levels measured by / T2 &1 W [0 gR1 A191 971 82

d}  LUX IMEeEwr / it Hicx
b} Hydrometer/ TReTicT

c) Anemometer / THIHIHICY
d) Multimeter / Fed ey



#1. Full form of MCCB s/ TR 1 qf 08
a} Miniature case circuit hreakar f ¢TH &1 AlET R
27, SRS CAsS L R d
b) Multi case circuit breaker / Hec| @8 diwc g
® Ea_=t = i fin m, . 4B L4‘,|,__;1r1n-r;}_~n-rr‘:i":r'.]—.-t:‘f
G} wviaiil Case Ciun DICanes ¢ s 9o srre At s

d) Moulded case circuit breaker / Meeg v ufde 9T

; . 5
42. DGA for transformer stands for / TRITHTHR & [T DGA @1 3 g
a) Differential gas analysis / fatlaas M fazaym
b) Dissolve gas analysis / i‘fﬁ a{aﬂﬂin ﬁnﬁa HY
¢) Different gas analysis /TdIYH T8 149Ul
d) Differential gas analysis, / {ddad My fdgasu
43. In large Yards where gap between adjacent lines are less, the type of lighting suitable is-
a8, 1] A SigT Fiapead! arg & 93 0 @i 2., yaR &) arglen Juydd & /

a) ¥l @gfen/ street lighting
b) TIH TS/ Tube light

oV Bl JTET ST F Hink maet linht
o g mHgn mast inht

d) S99 WIS -6l / None of these

Eal

!

44. LDB @119 34 ¢/ Full form of LDB is-

a) &l {5aIg¥ afa / Leakage Device Box

by engice fSarg e Lighting Device Box

c) @i fgfgeier 91 Lighting Distribution Board
e P o S Y -V VL. W " e - B 5 — H

d) TIgICT SIRC-1¥M 9IS Lighting Destnation Board

45, Zener Diodes are used for-
SR SIS S uar.. s feu g e/

a) ¥ V[T / Current Regulation
by dledul W / Voltage Regulation
) TaRHIaHI/Botha&b

d} T A S1% A8/ None of the ahove

46. There are six members in a family named A, B, C, D, E & F, Bis the wife of C. A is the son of E, E is the brother of C, D is th:
sister of A, B is the daughter-in-Law of F. How is E related to D?

A.B,C, D, E 3R TH U URAR 8% Wl @ B, C BTl 31 A, EBTTA R, E, C FIUE S, 0, AT TG 31 B,F P15 ¢
E, 0 I fh U Tafia 82

(A) Father / fOaT (B) Aunt / 3fiel (C) Sister / T8 (D) Daughter / A}

47. Indian Railways Institute of Electrical Engineering is situated at

feroreh geifrafin o yRdtg To TR BEl R e

...........

a. NewDelhi/ :[gﬁﬁﬁ b. Jamalpur / STHITTY ¢. Mumbai !Hﬁg d. Nasik /-TRI$

48. The marked price of a shirt is Rs 1280. If the shirt is being sold for Rs 900, then what is the discount pert:entage?/T!$"=2TcF
BT e el 1220 FUTE | e I ST 900 UL H G4 AIYET 5, 1 B U9 a1 7

a) 31.31
b) 25.57
c) 2968
d) 34.36



. When was the Railway Board formed? Tgard PITSTHd g3

a. 1896 b. 1912 c. 1918 d. 1905

50. Which is the correct spelling? T¢] M aqrai

a. Celibration
calibration

c. callibration

d. None of the above

51. 590 A AT IS0 F WA W 8T s 2

. ———r—
4. UK HuXi L. THoIX ¢ TN d. Wiy

52. g UTa fe<) feaw e mam s &2

@ 14 frdw @ o8 TIrd
@t 15 3T @h 21 5

L
L2

dai L Y | AEE e b e m e man B oad A o 0T
S VYT Wva > LT Vinuial Lalipua o ALL 4000 M oxTu

IorHTET YT 1963 S Uit fdar man ure

a) 10.07.1963
b) 10.01.1963
¢) 10.11.1963
d) 10.05.1963

Ln
I

Reply of Hindi letter in & Central Government Office should be in
% WOR @ Hraad A U Teal Ul & ITR... H IGT W1d §
a) US| English

by feci/Hindi

¢) ATIBHISl/ Either AorB

d) o8 @y Aga T8 €1 No such specified rule exists

~— =

L

r ﬁmﬁwﬂrmmlﬁmm!%glupl--a...l........... = b o dle
e i B b R L e L R I e e R AT LR A L NI WL L Y] ! ¥y v

incan ail

i

€L

a) fediaay @ﬁ'@?i 3ol & / To pass Matriculation with Hindi Medium
by I faren fEdl mrend @ a3/ To acquire Higher education with Hindi Medium

c) FHraterdl ufLieqor & et J SF U S/ To acquire the knowledge of Hindi through Official
Traininn

d) ﬁﬂﬁaﬁéﬁﬁf None of these



Answer key for

the post of Tech- lIl Level-2 against 25% QQ Quota in Electrical (G) Department

ment wedd o

B.o'-‘l;l"l

Q. No Ans Q. No Ans . | Q.No Ans Q. No Ans Q. No Ans
kit C 12 D 23 € 34 c 45 B
2 i= 13 C 24 c a5 B 46 B
3 D 14 C 25 D 36 B 47 D
4 A 15 & 26 A 37 C 48 G
5 B 16 R 27 B 38 D 49 B
6 A 17 C 28 A 39 B 50 B
7 C 18 c 29 C 40 A 51 D
8 C 19 B 30 C 41 D 52 A

- 9 A 20 A 31 A 42 B 53 B
10 | B 21 A 32 B a3 C 54 C
11 - D 22 B 33 C a4 C 55 C
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